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MAX 100
MIN 15
ZERE 205

5,100 Fims 3%
)0 =1 SR | |2 [ BEx | BT [N
1 ny 100 82 41775 1 760
1 T=3K 100 79 4050 2 400
1 SRS 100 79 4005 3 800
1 & A 100 77 3945 4 800
1 &t ER 100 7] 3925 5 800
1 A=< 100 76 3875 6 460
1 v x 100 74 3780 7 180
1 k gb f 100 73 3700 8 280
1 — X4 100 72 3675 9
1 L 100 /2 3650 10 800
1 H X2 100 70 3545 12 800
1 40 A 100 63 3235 17 240
1 P55 b 100 62 3185 18
1 E0) 100 62 3160 20 120
1 A—5x Al 100 61 3135 21 680
1 tE 100 60 3070 23
1 7 v 100 59 3015 24
1 BEE B 100 58 2935 26 400
1 »H—1)d| 100 58 2935 26 640
1 X7 X 100 52 2640 31 280
1 7=/ 7 100 49 2495 33 400
1 LN R F 100 47 2410 34 60
1 X & KER 100 45 2320 35 80
1 -5 A 100 35 1775 43
1 N 100 28 1405 47
1 = ¥ 100 26 1340 48 40
27 i 90 69 3500 13
27 A 90 66 3370 15 720
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=7 *—1 52 IR | R s IBfx7 | M
27 L UZA 90 62 3180 19 340
27 Yoy 20 53 2710 29 800
31 B R 5 A 85 61 3110 22
31 I 85 59 3005 25
33 *av 80 B4 2740 28 360
33 NANA 80 44 2265 36
35 Lo 75 70 3555 1 480
35 bLX 75 53 2710 29 300
35 No z 75 49 2500 32
35 TEbe Al 75 37 1900 40
35 FHY 75 30 1555 45
40 0202 70 65 3290 16
40 XA 70 42 2165 38
40 + = — 70 22 1135 51
43 15 < F 65 67 3395 14 800
43 L &< % 65 44 2265 36
43 (hZ 65 31 1580 44 60
46 + X I 30 15 785 52
47 Sl E 25 35 1810 42
48 Jox a2 15 11 570 55

1 2 3 4 5 6 7 8

1 A 3 1 5 3 4 2 3 5
1 7R 88%| 90%]| 77%| 83%] 90%] 90%| 92%| 77%

P 1 42 1 3 1

i) 4 2 2 1 3 42| 3 3

R 3 41| 2 4 139 1 1 |43 ]| 4

R 4 1 5 3 42| 1 1 3
i 5 2 36| 4 36
AT & 10 15 10 15 10 15 15 10
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